
*
+

Find# Part Description Specifications/Model Part # Qty
32 Connector QC - .250 Male Fully Insul 22/18 Ga 02-00033 ea. 2

Connector Ring #10 Insul 22/18 Ga 02-00034 ea. 2
Heat Shrink 1/2" Black 02-00086 ft 0.17

13 Boot Rubber Black U/O Toggle 02-00095 ea. 1
Wire                         Black 18Ga Awm 105c/600v (9") 02-00105 ft 0.75'
Wire                       Yellow 18Ga Awm 105c/600v (3")  02-00107 ft 0.25

31 Connector            +   Piggyback .250 18/14 Ga                  02-00134 ea. 2
Rectifier 400 Prv 16A Cathode Ca 02-00222 ea. 1

14 Switch Plate          + Hi/Lo Toggle 02-00226 ea. 1
29 Locking Ring        + for Toggle Switch              02-00248 ea. 1
15 Switch                   + Toggle DPDT (Metal)            02-00287 ea. 1
20 Blower            Assy-120v 19500Rpm, 2 Spd, 2 Stage (F) 02-00263 ea. 1

Heyco Liq. Tight Blk, Power Cord 02-00974A ea. 1
24 Connector          QC .250 Fem Fully Insul 22/18 Ga 02-01117 ea. 4

Cable Tie Nylon 4" 03-00012 ea. 2
2 Washer 3/16" Rivet Zp W-6 03-00013 ea. 8
9 Screw #8 x 1/2" Pan Hd Phil Sms Zp 03-00023 ea. 3

Nut #10-24 Hex Insert Al 03-00089 ea. 4
8 Washer Fender 3/16 ID x 1.5 OD x .06 Zp 03-00142 ea. 2

17 Clamp Hose 6 Dia Worm Drive SS 03-00144 ea. 2
23 Clamp Crimp 1.75 Dia 2-Ear SS 03-00146 ea. 2

1 Screw 10-24 x 1.5" Hwh Zp 03-00151 ea. 4
21 Screw Pan Hd Phil #6-3/8 Zinc Plated, Sms 03-00566 ea. 8

Screw #10-24 x 1/2 Hhw St Zp 03-01545 ea. 1
Bag 23 x 17 x 48 Poly 1.5 Mil 06-00045 ea. 1
Box 18.75 x 16 x 18.5 350Dwk HH48 Fol Plain 06-00050 ea. 1

27 Label Warning, Turbo Indoor/Outdoor 07-00109 ea. 1
Manual Owners' - Groom & Show Equipment 07-00232 ea. 1

10 Label Model/Serial 115v UL/CUL Dri-Dog 07-00320 ea. 1
5 Label Product, Dri-Dog 07-00321 ea. 1

Instructions Installation - Dri-Dog Brushes 07-00391 ea. 1
4 Housing Bottom, Fisher Blue Polyethylene 13-00100S ea. 1
3 Housing Top, Fisher Blue Polyethylene 13-00101S ea. 1

25 Tip Blk Rubber, Nozzle 13-00102 ea. 1
18 Tube 5.75" x .063"  x 3 Epdm 13-00103 ea. 1
22 Hose Assy 1.5" x 8' Vac Crushproof Blkw/ Cuffs 13-00104 ea. 1

 

Dri-Dog Airmover
(Models: F229) 

       to upgrade or complete repair
  - if you order this item, you may need to order additional items marked with same number of +'s in order 

Symbol Definition
  - multiple components to choose from for different models: voltage, size, color, etc.

Dri-Dog Airmover (F229) Page 1 of 3



Find# Part Description Specifications/Model Part # Qty
26 Nozzle Fisher Blu, Poly 13-00105S ea. 1
16 Foam Top, Urethane Acoustical w/ psa 13-00106 ea. 1
11 Foam Middle, Urethane Acoustical w/psa 13-00107 ea. 1
12 Foam Bottom, Acoustical w/ psa 13-00108 ea. 1
7 Filter 5 Dia x .75 20 Ppi Unifoam 13-00109 ea. 1
6 Screen Inlet 4.8" Dia Pc Gl Blk 13-00110-01 ea. 1

Brushes, Set                * 2 spd, 1 stg Red/Orange (pre- S/N 01557) 13-00127 ea. 2
Brushes, Set                * 2 spd, 2 stg , Grn, Blk, Wh  (post-S/N 01558) 13-00201 ea. 2

28 Baffle Handle Alum Dri-Dog 13-00128 ea. 1
19 Power Cord Assy      ++ 16/3 SJTW 5-15p 25 Ft               13-00167 ea. 1

Wire Harness            ++ 115V, Dri-Dog                         13-00168S ea. 1
Motor Brush Kit 3 sets of brushes 13-00201 (2spd, 2 stg) S255 ea. 1
Nozzle/Hose Kit hose,swivel,cuff,baffle,screw S250 ea. 1

Dri-Dog Airmover (F229) Page 2 of 3



Dri-Dog Pictorial Drawing

Dri-Dog Airmover (F229) Page 3 of 3


